Section 2.2

#3—22,31—34,38—-42,72,73, 74
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y =10
Derivative of all constants is O

Axi=-2
Flx)=10

Derivative of all constantsis O
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Axi=x -3x-227"
Fixy =3t -t o -t
Flixy=3x* -3+ 827
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Fiix)y=13x _3+x_j

32.

Ax)=x*-3x-3"
Flixy =2t~ —axt-t o a-r!
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41.

A =4«j{;+3cnsx

1

Axl= -4;rE +3cosx
L
Fiix) = 4[%]?{2 + 3(—smx)
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,f"'lz:rjl:Ex2 - 3sinx

F1(x) = = sinx

b

X

Fx) = % ~sinx

42.

Axi=2snx+ 3cosx

7z = 2(cosx) + 3(-sinx)

F(x) = 2cosx— 3sinx




72. 220-ft building = s,
Initial velocity = vy =-22
What is velocity after 3 seconds = v(3)

s(8) = —168° + v b+ 5,

s() = —168° — 22t + 220

vt =5"() =-32-22
v(3) = -32(3) - 22
V(3 =-96- 22

w3 =-118
Velocity after 3seconds = -118 ft/sec

What is the velocity after falling 108 feet?
s(t) = 108
(1) = —168% + vyt + 5,
s() = —168° — 22t + 220
108 = —164* - 22t + 220
= —168° — 22¢+ 220 - 108 {/get everything on one side

= —168% - 221+ 112
b =3421 or tw 2046 M use calculator or quadratic formala
Can eliminate -3.421 since it is negative. To find velocity, plug in 2.046 into velocity formula:
v 2.046) = —32(2.046) — 22
v 2.046) = —65.472 - 22

vi(2.046) = -87.472
The velocity after falling 108 feet is -87.472 ft/sec



73.

From the surface of the earth = s, =0
Initial velocity = v, = 120
Velocity after 5 and 10 seconds = v(5) and v(10)

S8 =498 + Vot + 5

s(8) = 4.9 + 1208+ 0

Vit =5'(8) = —4.9( D+ 120 = -9.8¢+ 120
V(5) =-9.8(5) + 120 = —49+ 120 = 71
v(10) = —9.8(10) + 120 = 98 + 120 = 22

Velocity after 5 seconds = 71 m/sec
Velocity after 10 seconds = 22 m/sec

74.

Dropped =v,=0
t=6.8
Pool of water at ground level =s, =0
S8 =498 + Vot + 5
0=-49068"+0(6.8) + 5,
0=—49046.24) + 0+ 5,

= 226,576+ 5,

5, = 226,576
The height of the building is 226.576 m



